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RS 5 E=S a5t HHEH
FF R BT 238 258 496 209
FFHhE—TE 331 428 759 389
FFRBI—TE 250 245 495 233
FFHBI=TE 281 313 594 263
FERRTE T E 685 828 1513 727
R ATH 1,195 1,392 2,587 1,158
FFHETRTH 1,354 1,494 2,848 1,135
FFERTETH 540 644 1,184 524
FFHET/\TH 192 194 386 229
IE¥B—TH 182 231 413 216
E¥FET—TH 1,012 1,107 2,119 1,012
F# /O 8T 306 339 645 264
MBI—TH 484 555 1,039 526
MSET—TH 1,463 1,741 3,204 1,443
MSBI=TH 491 519 1,010 417
MKETETH 513 519 1,032 475
/NERT 768 810 1578 645
/NHET—TH 109 116 225 107
INARTZTH 834 869 1,703 748
/INART=TH 218 232 450 173
M 414 599 1,013 522
FMBI—TH 245 245 490 233
FMET=TH 355 362 717 290
5 12 H] 1 1 2 1
S1EETI—TH 439 478 917 401
$t&REI—TH 369 498 867 420
=30 755 845 1,600 700
= BRHET 329 363 692 304
R HET 359 344 703 300
— & PRET 230 264 494 206
[ A< BT 1,026 1,115 2,141 974
WEET—TH 340 377 717 315
LFERT=TH 352 386 738 259
WHERT=TH 370 389 759 291
PRAERT—TH 274 299 573 272
PAERT—TH 646 745 1,391 605
YRAERT=TH 199 229 428 189
FRAERTET B 429 425 854 248
EEH 225 191 416 182
E2ER—TH 409 474 883 384
EEW_TH 302 357 659 294
EER=TH 632 694 1,326 629
SEERMETH 58 68 126 59
{HAHT 478 30 508 501
HAXBT—TH 831 948 1,779 832
BABIZTH 1,019 1,296 2,315 1,165
BABI=TH 546 571 1,117 524
HAETETH 845 874 1,719 859
BABTRTH 576 608 1,184 580
HAEIARTH 374 416 790 446
A BT 363 315 678 394
M EBT—TH 223 216 439 299
M ERT=TH 476 448 924 482
M ERT=TH 462 522 984 499
M EETETH 279 277 556 253
T HET 3,687 3,812 7,499 3,122
EGEN:) 456 470 926 371
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[IKEBT—TH 462 455 917 378
KEEIZTE 634 744 1,378 604
[KERT=TE 1,238 1,362 2,600 1,186
[KEBRTETE 421 438 859 396
[KEBTRTE 1,248 1,456 2,704 1,393
) 4,099 4333 8,432 3,472
WSEH—TEH 426 457 883 355
WAEH—-TH 587 638 1,225 505
WAEH=TH 1,968 2,145 4113 1,635
WAEHITH 1,471 1,667 3,138 1,111
WASEHRETH 510 581 1,091 444
= 5 BT 422 451 873 381
S HHT 231 243 474 219
HHTEHT 357 380 737 305
= #RHET 655 706 1,361 568
F0 EHHET 772 788 1,560 620
SR EHT 270 254 524 240
3H R BT 697 698 1,395 539
HHT 1,267 1,189 2,456 991
2RE 150 158 308 137
NEHH—TH 1,017 1,108 2,125 832
NEAH_TH 1,217 1,245 2,462 946
NEHH=TH 578 617 1,195 536
5EE—TH 452 508 960 412
FEE-TH 711 787 1,498 593
HFELS=TH 603 722 1,325 579
FBHE—TH 838 902 1,740 785
SBEE-TH 1,216 1,300 2516 1,094
FSEHE=TH 1,169 1,258 2,427 1,249
IOAE—TH 1,395 1,327 2,722 756
FoONH_TH 1,337 1,491 2,828 994
IOAEH=TH 854 911 1,765 522
[EIOAEITH 166 192 358 111
IO EHARTH 560 599 1,159 328
XA TH 654 659 1,313 375
HIT=B—TH 429 441 870 296
AT =B _TH 575 559 1,134 339
ANHEB—TH 330 337 667 329
REE_TH 559 577 1,136 435
ANHBI=TH 571 598 1,169 460
ANHEETETH 303 355 658 253
EEBR—TH 997 1,031 2,028 855
EER_-TH 813 838 1,651 809
EER=TH 752 753 1,505 565
EERTETH 278 294 572 281
EWEI—TH 345 348 693 354
EWEI—TH 356 360 716 273
EMEI=TH 293 291 584 235
HERMBETETH 223 210 433 215
EMETATH 430 432 862 384
HFBIATH 383 424 807 356
¥ HHET 2 5 7 4
FHE—TH 221 235 456 226
FHBI—TH 597 709 1,306 611
FHBEI=TH 162 181 343 139
7 E—TH 244 271 515 223
B E_TH 639 705 1,344 594
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T E=TH 198 228 426 168
FHUEH 1 1 2 1
HPAHFHF—TH 22 21 43 39
HHAEHF-TH 1 0 1 1
E=KJII BT 147 162 309 133
= 1R T 213 224 437 193
A FHHET 367 357 724 367
Nl 440 447 887 386
¥WAEFHE 190 187 377 175
T/ AT—Y—TH 0 2 2 2
T/ AT—V=TH 8 0 8 8
P H HT 274 284 558 238
/NEp FH BT 258 295 553 239
T=H 194 210 404 185
L stfr T 354 357 711 317
HE E LLIET 6 3 9 5
Jt EH pET 179 197 376 170
fie] BT 92 93 185 86
LR ET 104 112 216 93
EIEMAT 124 133 257 116
f238ET 349 373 722 300
A 0 FI BT 131 130 261 116
A SR ET 212 226 438 199
REFHT 184 177 361 171
x=—TH 171 184 355 239
E=_"TH 426 541 967 575
E=TH 458 581 1,039 599
ST 95 92 187 85
EFET 101 117 218 100
EHE—TH 255 312 567 267
EHE-TH 179 190 369 172
AHT 800 877 1,677 816
= FAET 1 0 1 1
EMBEI—TH 456 501 957 477
EMEIZTH 479 511 990 544
EMEI=TH 409 421 830 456
LHT 1,822 2,050 3,872 1,751
BN 7 8 15 9
BNER—TH 391 390 781 394
BRER_TH 765 751 1516 750
ENER=TH 715 610 1,325 547
L HET 1,143 1,239 2,382 1,119
T FHT 789 800 1,589 670
EFFEH—TH 115 144 259 135
FFE—-—TH 325 314 639 318
FFHE=TH 402 441 843 443
/NEFHT 65 84 149 71
gElLUE—TH 558 641 1,199 540
B2l _TH 1,286 1,305 2,591 1,625
BlLE5=TH 1,275 1,409 2,684 1,335
E% ATE 423 486 909 382
& 88,932 95,326 184,258 81,253
it BLEIAD A 1,458 1,304 2,762 1,671
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